Draft version Downloaded from lukesy.net

4.4 skip

derivative and expectation are both linear therefore interchangeable

4.2 dynamic scalar system
$$x_{KH} = fx_K + W_K$$
 W_K has variance q . If $var(x_K) = 6^2$, show $f^2 = \frac{6^2 - q}{6^2}$
 $X_{KH} = fX_K + W_K$
 $X_{KH} = fX_K$
 $E[(X_- \bar{X}_{KH})^2] = E[(f(x_K - \bar{X}_K) + W_K)^2]$
 $= E[f^2(x_K - \bar{X}_K)^2] + \partial E[f(x_K - \bar{X}_K) W_K] + E[W_K^2]$
 $\partial^2 = f^2 \partial^2 + O + q$
 $\partial^2 = f^2$

b) Ptc = P steady state = = F F O(FT)

Q=[0][01]=[00]; [ab][00][qd]=[5] bd

 $F^{K} = \begin{bmatrix} 1 & 2(1-1/2) \\ 0 & 1/2 \end{bmatrix} \quad \text{steady state} \quad = \sum_{i=0}^{\infty} \begin{bmatrix} 4(1-1/2)^{2} & 2(1-1/2) \\ 2(1-1/2) & 1/2 \end{bmatrix}$

4.5
$$\dot{x} = \begin{bmatrix} -1 & 0 \\ 0 & -2 \end{bmatrix} \dot{x} + \begin{bmatrix} 1 & 1 \\ 1 & 2 \end{bmatrix} \dot{\omega}$$
 $Q_{e} = I_{e} I I_{e} I_{e}^{T} = \begin{bmatrix} 2 & 3 \\ 3 & 5 \end{bmatrix}$

a) $Q_{e} = \int_{t_{e+1}}^{t_{e}} e^{A(t_{e}-T)} Q_{e}(T) e^{A(t_{e}-T)} dT$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{t_{e}-t_{e}}}{0 - 2(t_{e}-T)} Q_{e}(T) e^{A(t_{e}-T)} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-T)} Q_{e}(T) e^{-3(t_{e}-T)} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-t_{e}-t_{e})} dT \right] dT$$

$$= \int_{t_{e+1}}^{t_{e}} \left[\frac{e^{-2t_{e}-t_{e}}}{0 - 2(t_{e}-$$

Draft version. Downtoaded from lukesy.net = [et 0] PEI [et 0] + [ST 3T] O e2T + [ST 3T] Note: [et 0] [ab] [et 0] = [ae-27] best [ce-37] dett Pr= [eTO] Po[eTO] + [0 e²] [0 e⁴]

[2T 3T] (1] + [e² e³] + + [e² e³] + + [e² e⁴] + + [e² e⁴] + + [e⁴] + + [4.9 for small T = Fen Pkn Fkn + Qkn
= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-At O] Pkn [e-At O] + [1-e-At] = 345

= [e-= [e-KAt O] Po [e-KAt O] + following the same idea/ (1-e-2KAt (1-e-3KAt) 1-e-3KAt 1 principle in

4.8
$$x_{k+1} = \begin{bmatrix} y_2 & 0 \\ 0 & y_2 \end{bmatrix} x_k + w_k$$
 $Q = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$

$$P = \sum_{i=0}^{\infty} F^i Q(F^i)^i = \sum_{i=0}^{\infty} \begin{bmatrix} y_2^i & 0 \\ 0^i & y_2^i \end{bmatrix} \begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} y_2^i & 0^i \\ 0^i & y_2^i \end{bmatrix}$$

$$= \begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix} + \sum_{i=1}^{\infty} \begin{bmatrix} y_1^i & 0 \\ 0^i & y_2^i \end{bmatrix} \begin{bmatrix} y_2^i & 0 \\ 0^i & y_2^i \end{bmatrix}$$

$$P = \begin{bmatrix} 4/3 & 4/3 \\ 0 & 4/3 \end{bmatrix}$$

$$P = \begin{bmatrix} 4/3 & 4/3 \\ 0 & 4/3 \end{bmatrix}$$

$$Q = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}$$

$$Q = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}$$

$$4.10 \int_{-\infty}^{\infty} f(t) S(t-\alpha) dt = \int_{-\infty}^{\infty} f(\alpha) S(t-\alpha) dt$$

$$= \frac{f(\alpha)}{2}$$

$$= \begin{bmatrix} -10 \\ 0-2 \end{bmatrix} \begin{bmatrix} P_{11} & P_{21} \\ P_{12} & P_{32} \end{bmatrix} + \begin{bmatrix} P_{11} & P_{31} \\ P_{12} & P_{32} \end{bmatrix} = 0$$

$$P_{11} = -2P_{11} + 2 \qquad P_{22} = -4P_{22} + 5$$

$$P_{12} = -3P_{12} + 3 \qquad P_{22} = 4(1 - e^{4t})$$

$$P_{13} = 1 - e^{-3t} \qquad P_{22} = 4(1 - e^{4t})$$

$$P_{14} = 1 - e^{-3t}$$

page 2 of 2